Further Practices


Further Practice 4.1
Basic

1. Identify the rational numbers in the list below.
–4.52, 
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2. Identify the irrational numbers in the list below.

3.78, 0.0001, 
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Intermediate


3. State whether each of the following numbers is rational or irrational.
(a) 
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(b)
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(c) 
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Challenging

4. State whether each of the following statements is true or false.
(a) A recurring decimal is an irrational number.
(b) All square roots of perfect squares are rational numbers.

Further Practice 4.2
Basic

1. Round off the following to (i) the nearest tenth, (ii) 2 decimal places, and (iii) 3 significant figures
(a) 14.784

(b) 0.8245

(c) 170.427
(d) 2.463
2. Evaluate the following using a calculator. In each case, give your answer correct to 2 decimal places.
(a) 47 ÷ 3.3


(b) 1.27 × 2.6

(c) 78 ÷ 3.59
(d) 4.6 × 2.18
Intermediate

3. The length of an earthworm is about 0.1436 metres. Round this figure to
(a) 2 decimal places

(b) 1 significant figure
(c) 3 significant figures
4. The mass Farhana’s empty school bag is 712 g. She puts a textbook with a mass of 620 g and a pencil case with a mass of 190 g in the bag. What is the approximate mass of the bag now? Give your answer to the nearest kilogram.
Challenging

5. A pile of 500 sheets of paper has a height of 6.35 cm. Find the height of 100 sheets of paper, correct to 2 significant figures.
Further Practice 4.3
Basic

1. Estimate the value of each of the following, correcting to 2 significant figures
(a) 4.15 × 7.92


(b) 0.488 – 0.11 + 1.319
(c) 3.22 × 16 ÷5.18
2. One bottle can hold 2.78 ℓ of water. Estimate the number of bottles needed to hold 15 ℓ of water.
Intermediate

3. A farm has 108 chickens. Each chicken consumes 2.8 kg of chicken feed in each month. Approximately, find out amount of chicken feed is needed for all the chickens in a month? Give your answer to the nearest hundred kilograms.
4. Adam wants to bring 3 small bags weighing 5.79 kg, 2.86 kg and 7.03 kg onboard a plane. The airline allows a passenger to carry a maximum of 12 kg. Estimate the extra load he has. Give your answer to the nearest kilogram.
Challenging

5. A tank measures 29.7 cm by 31.3 cm by 60.9 cm.
(a)
Estimate of its volume by rounding off each length to the nearest 

10 cm.

(b) 
Find the volume of the tank correct to 4 significant figures.

(c) 
Abdul wants to fill the tank with water using a tap. He fills 120 mℓ of water per second into the tank. How long does he take to fill the tank completely? Give your answer correct to the nearest minute. 

(1000 cm3 = 1000 mℓ)
Chapter 4 Approximation and Estimation
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